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Check the question paper for fairness of printing, If there is any lack of fairness,

inform the Flall Supervisor immediately.
(2)  Use Blue or Black ink to write and underline and pencil to draw diagrams,

Instructions : (1)

LS -1/ PART - 1

@O : (i) ewenggl deanbusansen oilenl-taflimab, 15x1=15

(i) Qan@sacinGarar wnpy olen-safld Blaanb aprienw damicup
GO\ e Gyen ellan-Seneayiy Cuijsg arapmeyi.
Note : (i) Answer all the questions,

(ii)  Choose the most appropriate answer from the given four alternatives
and write the option code and the Corresponding answer,
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. o mIiYEaaT @m1é;@@@ﬂ[b@ QeuafGu ) mHg) DIgHAPIGLILD.

(1) Secured eUiLsar (<) Public o mciser

(@) Private o gliyser () Protected o miliuger
members arc accessible f;orﬂ 0L1t§ic1c the class.

(a)  Secured members o(b) Public members

(¢) Private members (d) Protected members

2.  Qaneumeuarauppled ag @USSTEN Apiiyd Qemd anLwing) 2

(<=t) continue (<) break (8) operator () while
Which of the following is not a keyword in Python ?
(a) continue (b) break Jé) operator (d) while

3. @@ @PudlL Qsumed QeiieugHsTs LwaTuRSsLLEL GHpanuder Ablw

uEs :

(<=1) Pseudo GHpeD (<) lvewr Hlydsar

(@) Qsngdser () Camiyser

The small sections of code that are used to perform a particular task is called :
(a) Pseudo code b) Subroutines

(c) Modules : (d) - Files

4. eougsnafler (psslwioer SLEUUTL® SiewlLsenar camailsms :

(20) 5 ()3 (8) 6 (F) 4
The number of important control structures in Python :
(a) 5 o 3 (c) 6 d) 4
5. QasEw 2nuLSeEr Qewp@dudes epaib SignslLREDSI.
(=) # (<) & (&) % (%)
Class members are accessed through operator.
(a) # b) & () % _Mdy
6. QuHGHTT GHms e-paiflermamus GHIIE sraysger wrdlfl :
(@) ugHore () 2-payfloa
(@) QumapeT () euamewanLoliLy
The database Model which represents the Parent-Child relationship :
/(;,(f Hierarchical (b) Relational
(c) Object (d) Network
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FTEBSmaT @eeards ahs CawpEH LuaLOSpg ?

(1) () + @) = () &

The operator which is used for concatenation ?

(a) (/b} + (c) = (d) 8
@usstar firelle C++ e smeldse e S\DWEEILHE DG
(<) Qevargse (<) 20p @Gge

(&) Ofigse (m) ufelipssn Cslige

Importing C++ program in a Python program is called

(a) Interconnecting Wrapping

(c) Parsing (d) Downloading

sLLear sreysasHal(Hbal @ i Leumanaw Bés LweTLHEDS.

(<) DELETE ALL (<,) DROP TABLE
(@) ALTER TABLE (/) DELETE
command is used to remove a table from the database.
(a) DELETE ALL /[b) DROP TABLE
(c) ALTER TABLE (d) DELETE

ahg Cswpsan CeiplsRsstiul L yagdear Quilw wHlimus Hmig sigiiyb :

(<) HIGH () (<2) MAX () (@) MAXIMUM() (m) LARGE()
The function that returns the largest value of the selected column is :

(a) HIGH () (by MAX() () MAXIMUM() (d) LARGE()
2 (HeualiL] SPWLILLL §T6y cuams e JpssliuBEng.

(=) Concrete datatype (<) Built-in datatype

(@) Abstract datatype () Derived datatype

The datatype whose representation is known are called :

( Concrete datatype (b) Built-in datatype

(c) Abstract datatype (d) Derived datatype

[ muys / Turn over

www.kalviexpress.in



www.kalviexpress.in

6672 4
12. sarevargsiGen wimpssisQsneaEsh Qeuhiag
(=1) @mbLr (<) e-ereflanemhs
(@) return sapm) () sDaPHS
A Function which calls itself, is called as :
(a) Lambda (b) Built-in
() Return statement /(d'r Recursion

13.

14.

15.

2 (HeuluL b Ijeg Quii@ghlame Gamiy Gurenn 2 Sjrs Carlismar
SWITET LWL (pepm :

(=1) xIs (=) 2@ (@) csv (m) @@wioo
The mode which is used when dealing with non-text files like image or exe files :

(a) xls mode (b) Text mode  (c) csv mode /(,d')/ Binary mode

Quiug frarsssde, ghsmGe saras( Gaus wHUsmar CsllsEL WS
CTET ADPESLILI(HILD.

(=1) Blenaadl(pssen (<) wdlemu GsllEEh LTy
(@) uLlé () wdleru GraMa@h LT

In dynamic programming, the technique of storing the previously calculated values
is called :

/a/) Memoization (b) Saving value property
(c) Mapping (d)  Storing value property

set A={3, 6, 9}, set B={1, 3, 9} araflev,

Qemeuptd Blyadlen Geueflui® Print (set A|set B) :

(1) {1} (=4){3,6,9, 1,3, 9
(@) 1,3,6,9 (m) 3,9

Let set A={3, 6, 9}, set B={1, 3, 9},

The result of the following snippet Print (set A|set B)
(a) {1 b) 86,9, 1,3,9

y- {1,3,6,9 @ 6.9
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GPLY : amaCuad P01 Slamss@pseg elorwalssa). cilaim e 24 -gg

Note :

sl nuons aloLwalldsab.

Answer any six questions Question No. 24 is compulsory.

16. Tuple &I TR ? THSHESTLE (.

17,

18.

19.

20.

21.

22.

23.

24.

What is a Tuple ? Give an example.

ardude aaprd eTatar ?

What is a scope ? -

QussSTAlD sr50s sreuaumm) S&@euml ?
How will you delete a string in Python ?

range () Qewpam GPLY us.
Write note on range () in loop.

QeEg( AT Greal ?

What is class ?

s7e| esWn@pse Gl ereamme ereer ?

What is Data Manipulation Language ?

Camuer QanLmblene apenpenasamans GHIIAHS.
Mention the default modes of the File.

s7e sMLAULGHSSI5D aumsmuls UL g (s,
List the general types of data visualization. —

Gemeumn eussten Ghlepapuier Qeueiui® wrg ?

Squares=[x**2 for x in range(1,11)]

print (squares)

What will be output of the following Python code ? /
Squares=[x**2 for x in range(1,11)]

print (squares)
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@@L.“-l : aGzemn S0 TS EHEG e waflése b, efemr erepr 33 -8 SL_LmuLD
MenLwiaNGsab. 6x3=18
Note :  Answer any six questions. Question No. 33 is compulsory.
25. @eLpssHear LTS SapIBmaTs GO0,

. T . -
Mention the characteristics of Interface.

26. Quitis Arersssost upd BelliT ifleud wrame ?
What do you understand by Dynamic Programming ?

27. www QeupGHou a@S8ESTHL TWPEIs.
Explain Ternary operator with an example. —

28. while wLsdlar QurgeugeugHamar eT(PSIS.
Write the syntax of while loop. e

29. ceil() wHmd floor () Qewh smmsmar CaunLhS55.
Differentiate - ceil() and floor () function. L

30. csv reader() wpmib Dict Reader () auflpemmaEnéE @ Cuwrar Caumur®
wimg ?
What is the difference between csv reader () method and DictReader () class ? -~

31. fetchone () wHmibd fetchmany () Ceumu(ps8is.
Differentiate fetchone() and fetchmany ().

32. Gsr(&suULL agasms AFHHL eussta Hime apss.
Write a Python program to display the given pattern. '
COMPUTER
COMPUTE
COMPUT -

COMPU /
COMP

COM

coO

C

www.kalviexpress.in



www.kalviexpress.in

7 6672

33. urdey SLEUUTL®H sappismer Qarari. C++ Blydaamar @)widheio UGG TEn
Hirosailear LigHoasmar GT(LD &I,

Write about the steps of Python program exceuting C++ program using control
statement.

UGS - IV / PART - IV
GULY : Sivess clemssensEn eNeiualssa)b. Sx5=25
Note : Answer All the questions.
34. () List erenpred erewen ? List, g pairs e DmpESILGSDg ? THE5!5-
sTLBLen efleufaseyib.
3|6V60
(=) aullenspern CoLe wpampeow efloundsseib.

(a) What is a List ? Why List, can be called as pairs ? Explain with suitable
example.

OR
(b) Discuss about linear search algorithm. .~

35. (1) eugsnafley o erar efldamasat LDM eSS, .
{60605

(=) Qemeumid 2 arafleneanbs QFwn gwmmsmer efersEs.
(i) id()
(ii) chr()
(iii) round()
(iv) type()
(v)  pow()

(a) Discuss in details about Token in Python. /

OR

(b) Explain the following built-in function.
(i) 1id()
(ii) chr()
(iii) round()
(iv) type()
(v) pow()

[ S@iis | Tum over
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36.

37.

- 38.

(=) Q&veranen Tuple eréipréd crénar ? 6TOBHIERM i alilerndi g,
SIS
() 2.poy Povala aimssma alanflasaalb.
ney |

(@) What is Nested Tuple ? Explain with an example, —
OR

(b)  Explain the different types of relationship mapping,

(&) getopt() erép Qewpenlen Qamflema erupd), oiger Glew gL senamib,
Apu@ugtiyn wHULS®ETD 656 Ees.

3|60
(<3) DBMS wpmib RDBMS Geumiu(hsis.
(&) Write the syntax for getopt() and explain its arguments and return values.
) OR
(b) Differentiate DBMS and RDBMS. -

(=1) afewGLrdymb LHOID UL eUmTULRIGEREE Qe Guurear Gaumun(®-
soar eilatéEs.

S{evevg
(<) continue &pilenar @Sz L6 elemé (s,
(a)  Explain about d_ifferences between Histogram and Bar Graph.

OR
(b)  Explain ‘continue’ statement with an example.
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